

$$\textcircled{1} \text{ a) } \frac{d}{dx} e^x \sin(x) = e^x \frac{d}{dx} \sin(x) + \sin(x) \frac{d}{dx} e^x = e^x \cos(x) + \sin(x) e^x$$

$$\text{b) } \frac{d}{dt} \ln(2 + \cos(t)) = \frac{1}{2 + \cos(t)} \cdot \frac{d}{dt} (2 + \cos(t)) = \frac{-\sin(t)}{2 + \cos(t)}$$

$$\text{c) } \frac{d}{dx} \left(\frac{e^x - e^{-x}}{2} \right) = \frac{\frac{d}{dx}(e^x) - \frac{d}{dx}(e^{-x})}{2} = \frac{e^x - e^{-x} \cdot (-1)}{2} = \frac{e^x + e^{-x}}{2}$$

$$\text{d) } \frac{d}{ds} \left(\frac{\sin^{-1}(e^s)}{s^2} \right) = \frac{s^2 \frac{d}{ds} (\sin^{-1}(e^s)) - \sin^{-1}(e^s) \cdot \frac{d}{ds} s^2}{(s^2)^2}$$

$$= \frac{s^2 \cdot \frac{1}{\sqrt{1-(e^s)^2}} \cdot \frac{d}{ds} e^s - \sin^{-1}(e^s) \cdot 2s}{s^4}$$

$$= \frac{s^2 \cdot \frac{1}{\sqrt{1-e^{2s}}} e^s - 2s \cdot \sin^{-1}(e^s)}{s^4}$$

$$\text{e) } \frac{d}{dx} 4 \sqrt[5]{\ln(x)+1} = 4 \frac{d}{dx} (\ln(x)+1)^{1/5}$$

$$= 4 \cdot \frac{1}{5} (\ln(x)+1)^{1/5-1} \cdot \frac{d}{dx} (\ln(x)+1) = \frac{4}{5} (\ln(x)+1)^{-4/5} \cdot \frac{1}{x}$$

$$\text{f) } \frac{d}{d\theta} \theta \cdot e^{\tan(\theta)} = \theta \cdot \frac{d}{d\theta} e^{\tan(\theta)} + e^{\tan(\theta)} \cdot \frac{d}{d\theta} \theta$$

$$= \theta \cdot e^{\tan(\theta)} \cdot \frac{d}{d\theta} (\tan(\theta)) + e^{\tan(\theta)} \cdot 1$$

$$= \theta e^{\tan(\theta)} \sec^2 \theta + e^{\tan \theta}$$

$$\textcircled{2} \text{ If } f(x) = e^{x^2} \text{ Then } f'(x) = e^{x^2} \cdot \frac{d}{dx} x^2 = 2x e^{x^2}$$

The slope of the Tangent line at $x=1$ is $f'(1) = 2 \cdot 1 \cdot e^{1^2} = 2e$

The line passes through $(1, f(1)) = (1, e)$. Equation: $y - e = 2e(x - 1)$

③ a) If $f(x) = \ln(ax) - \ln(x)$, Then

$$f'(x) = \frac{d}{dx}(\ln(ax)) - \frac{d}{dx}(\ln(x)) =$$

$$= \frac{1}{ax} \cdot \frac{d}{dx}(ax) - \frac{1}{x} = \frac{1}{ax} \cdot a - \frac{1}{x} = \frac{1}{x} - \frac{1}{x} = 0$$

Since $f'(x) = 0$ for all $x > 0$, $f(x)$ is constant for $x > 0$

b) $f(1) = \ln(a \cdot 1) - \ln(1) = \ln(a) - 0 = \ln(a)$,

Since $f(x)$ is constant, $f(x) = \ln(a)$ for all $x > 0$.

So $\ln(ax) - \ln(x) = \ln(a)$, or $\ln(ax) = \ln(a) + \ln(x)$.

Since a was an arbitrary positive number, we have shown $\ln(ax) = \ln(a) + \ln(x)$ for all $a > 0$ and $x > 0$.

④ a) $\frac{d}{dx} x^{\sqrt{x}} = \frac{d}{dx} (e^{\ln(x) \cdot \sqrt{x}}) = \frac{d}{dx} e^{\ln(x) \cdot \sqrt{x}}$

$$= e^{\ln(x) \cdot \sqrt{x}} \cdot \left[\frac{d}{dx} (\ln(x) \cdot \sqrt{x}) \right]$$

$$= x^{\sqrt{x}} \cdot \left[\ln(x) \frac{d}{dx} \sqrt{x} + \sqrt{x} \ln(x) \right] = x^{\sqrt{x}} \cdot \left(\ln(x) \cdot \frac{1}{2\sqrt{x}} + \sqrt{x} \cdot \frac{1}{x} \right)$$

b) $\frac{d}{dx} (\tan(x))^{x^2} = \frac{d}{dx} e^{\ln(\tan(x)) \cdot x^2}$

$$= e^{\ln(\tan(x)) \cdot x^2} \cdot \frac{d}{dx} (\ln(\tan(x)) \cdot x^2)$$

$$= (\tan(x))^{x^2} \cdot \left(\ln(\tan(x)) \cdot \frac{d}{dx} x^2 + x^2 \frac{d}{dx} \ln(\tan(x)) \right)$$

$$= (\tan(x))^{x^2} \cdot \left(\ln(\tan(x)) \cdot 2x + x^2 \cdot \frac{1}{\tan(x)} \cdot \sec^2(x) \right)$$